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Place�Call�

Yes 

No 
Car  

Stereo Other 
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The study question is to determine the capacity of each of these resources needed to satisfy the manager’s 
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greater than zero, the we have not met the manager’s re
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Car Stereo, if DICE � 4
Other,        otherwise   
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as of noon. The “Time/Obs” 

Scheduled�
to�Arrive�

In�Process�
IVR�Unit�

In�Process�
Car­Stereo�Sales�
Representative�

In�Process�
Other�Products�Sales�

Representatives�

Waiting�in�Car­Stereo�Queue�

Waiting�in�Other­Products�Queue�
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e attribute value is set to “Other”.
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Lets process one more event, just so we’ve got the idea.  Looking at the calendar in Table 4, the next 

t_Type attribute is “Car
Stereo”

time and that’s it.

and we have all of our statistics calculated.  The “answer” for the simulatio

approximate the manager’s requirements.  Seven out of (7+10+53)=70 (
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ay?  Shouldn’t we really look 
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“If we repea

tween 6.8847 and 7.0493.”  Mo

gle run, we know now with some certainty that this wasn’t just a bad day.
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short the manager’s performance requirements

Let’s 

the manager’s str

—
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representatives have the time to engage in cross selling (“if you are looking for that particular car stereo,
we have the perfect set of speakers you might also want to consider…”).  With adequate knowledge, 

of the system, what’s important and what’s not, and what questions (however complex) we should be as
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ere to “cross train” 

generalist representatives) and still achieve the manager’s requirements.  

—
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ticed early on that the manager’s requirement bounding the number of cal

We’ll leave exploration of this and other options for a rainy day.
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